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1T BF 4x50m 2V — ) L — BALRE o 1 984559
2 TF 4x50m T Y — 1) L — BALRE 2 1 OR%45%
3 BF 4x100m 27 ) — 1) L — BALRE 2 1 985159
4 ZTF 4x100m 7 ) — 1) L —  BALRE 4 1 ORES14
5 BF  200m @ N A F L — HALRE 25 4 1085004
6 ZF 200m @ N A F L — BALRE 30 4 1085144
7 BF 400m H =2 e 24 LRE 9 2 10853257
8 &TF 400m H 2] e B4 LRk 8 1 10854345
9 BF 50m T X EF AL LR 20 3 108534
10 &L F o0m ik F A A LR 16 2 108556 7
11 B8F% 5m & X EF AL LR 14 2 118024
12 &L F 50m H ik F RS LR 16 2 11850557
138BF 50m /N 2 7 5 A4  2ALRE 20 3 11E13%
14 % F 50m /N 2 T T A4 A LRE 17 3 11E15%
15 BF% 50m H &3] o B4 LR 58 8 1182245
16 & F 50m H H e A LR 44 6 118297
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17 5F 100m 7k F AA LR 22 3 1285309
18 Z+F 100m 7k T A LRBE 13 2 12853557
19 BF 100m & 7k E A LR 9 2 12854259
20 Z&F 100m % ik EF A A LR 11 2 1285475
21 BF 100m /N 2 7 T A B4 LRE 18 3 1285559
22 wF 100m /N 2 7 5 A4 B4 LR 9 2 138004
23 BF 100m H =2 2 2A LR 34 5 138507 7
24 ®F 100m B £2] o B4 LR 28 4 13815%
25 B ¥ 1500m H =2 2 24 LR 3 1 13852159
26 =F 800m H £2] o B4 LR 2 1 1382145
21 BF 4x50m * KL—1U L— A4 LRE 4 1 1384445
28 ZwF 4x50m A KL—1 L— A4 LEE 2 1 138544453
29 BF 4x100m A FL—1 L— B4 LR 2 1 138504
30 LF 4x100m * KL—1 L— &ALk 4 1 1385509
31 BF 400m @ AN A K L — S4LRE 4 1 14850053
32 TF 400m B N A F L — BALEE 3 1 1485004
33 BF 200m B =] o 24 LR 11 2 1485104
34 ¥ 200m H =2} 2 A LR 10 2 14851559
3 BF 200m F 7k T A LR 12 2 1485255
36 ¥+ 200m F ik E A LRB 3 1 14853159
37 BF 200m % X F A A LR 2 1 1485394
38 T¥ 200m FH ik T A A LRB o 1 1485397
39 BF 200m /N 2 7 5 A B4 LR 5 1 14854745
40 =F 200m /N 2 T S A BALRE 9 2 1485509
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